value

PC.ae.C42.5

F trimmed-means(3.15,698.93) =, p = NA, SAKP = 0.05, Clgsy, [-0.25, 0.33], Npairs = 371

R-avg

P Bonferroni-corrected = 1.68€=07

P Bonferroni—corrected = 3.26€—-05

ch;nferroni—corrected =0012

P Bonferroni-corrected = £-29€—=U3Y

P Bonferroni-corrected = 1.01€=05

P Bonferroni-corrected = 4-24€—=0U39

P Bonferroni-corrected = 0.000

P Bonferroni-corrected = U.00U35

ﬁtrimmed =1.18

AN

-4 ﬁtrimmed = 1-03]

ﬁtrimmed =115

{ Biinmea =1.02

ﬁtrmmed =0.81

agleo aglel
(n=371) (n=187)

agle2 agle3 agle4
(n=52) (n =207) (n = 207)
age

Pairwise test: Yuen's trimmed means test ; Comparisons shown: only significant
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